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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section-A 4x3'%,=14
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 3% marks.
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What do you mean by Statistics ?
Tiferwt § 9 91 gEEd ¥ ?
What do you understand by Frequency

Distribution ?

st faaeor & o9 =1 e ¥ 2

What is Business Forecasting ?

SR EEE F § 2

What is the need for analysis of Time Series ?
qUg et & faveiwur &t o STevasd ¥ 2
What is Fisher’s Ideal Index ?

freR o1 eTeel guwRie F T ?

What do you know about Probability ?
ifashar & SR § S 1 S § 2
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(vii) What is Coefficient of Correlation ?
He-HaiY 1 Ok FM T 2
(viii) Write the meaning of Range.
I w1 e fafe)
Section-B 4x14=56
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 14 marks.
gug—d
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2. What do you mean by Data ? What are the
methods for collecting the data ?
ARSI ¥ N9 FM TSI § 7 SRS FI THHA FH
=1 fafeml = § 2
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3. Calculate the correlation coefficient from the
following data of marks obtained in Applied

Statistics (X) and Remote Sensing (Y) :

Teee Wiefer (T) oiR foe e () & ww
Tl & 7 S | Fe-TaY O HI UM HIWT

X Y
50 48
60 65
58 50
47 48
49 S5
33 58
65 63
43 48
46 50
68 70
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4. Find the standard deviation and coefficient of

variation from the following data :

Wages No. of Workers

Up to % 10 12

Up to % 20 30

Up to T 30 65

Up to X 40 107

Up to X 50 157

Up to X 60 202

UptoX 70 222

Up to X 80 230
frafafea stieet | AF® foeem R faar &1 qons
@ HIST
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T st ® W
310 9= 12
3 20 dek 30
3 30 d= 65
3 40 d 107
3 50 IR 157
T 60 d& 202
3 70 d& 222
3 80 d& 230

5. Explain the various approaches to Probability. Are

these approaches contradictory ?

TifeRar & fafi= gfeswmn &1 sren wifse) w=&n 3
gt fadienarst € ?

6. What do you understand by Central Tendency ?
What purpose does a measure of central tendency
serve ?
=T Y9 ¥ AT N WHIA § 7 g ygrd
A e REF & 9fd wa T ?
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7. From the following data fit a straight line trend

using least square method and find the trend

values :

=1 2o ¥ foe =R fafy &1 3am + U 9iedt

@ ygfa # fhe #ifse iR gt am feerfeay
Year No. of Accidents
2014 282
2015 228
2016 185
2017 160
2018 129
2019 90
2020 70
2021 32
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. A University has to select an examiner from a list

of 50 persons, 20 of them are women and 30 men,
10 of them knowing Hindi and 40 not, 15 of them
being teacher and the remaining 35 not. What is
the probability of the University selecting a Hindi

knowing women teacher ?

T foeafaeme™ &1 50 SRkl o ot § 9 Th R/eTw
1 =TT B Bl 8, STH W 20 Afgend iR 30 @ T,
ST | 10 et STMa € SR 40 7, ST 9 15 e
T 3R 9w 35 = B favafoemem g fot s et
afgen forfarmstt & === & wifadwa w0 % 2

. What do you mean by Weighted Average of

Relative ? What are the steps and formula for

computing the weighted average of relative ?

Trey & WG STEd ¥ Y N 9Hed § 2 9ue &
qiftd g &1 AT & fow wRor iR g ¥ 2
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